PUNJAB EXAMINATION COMMISSION
EXAMINATION 2020, GRADE 8 Model Paper

MATHEMATICS PART - B (Subjective Type)

Part-A: 48 Marks, Part-B: 52 Marks, Total: 100 Marks

LIl F e
Student Name Q. Marks Signa}ture Sigr:ltu;e
(In Capital Letters ) No. o ot nea
Examiner | Examiner
33
Roll Number i i 34
(In Figures) 35
36
37
Signature of Dy. Superintendent (CNIC) =============m=muu-x Total
For official use only
General Instructions: el
1) Read carefully and attempt all questions. U J’.:,uwrb‘imu.‘."gaji(l
2) A gquestion can consist of one or more parts. _q_l;fm}’” 12U ki L LI L2
3) Use blank space given below each question to write the answer. No additional page will be
given for writing; KL F O L LAy S Ui L sizd BWE 64 Ldr 2
4) Use black/blue ink for writing. Use of lead pencil and calculator is never allowed.
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Total Marks: 52 Part-B (Open Ended Questions) Total Time: 1 hour 30 minutes

Q.No.33. (a) If A={1,2,3,4,5,6}, B={1,3,5,6,7} and C={1,3,5,7,9} then show that 5)
AU( BUC) = (AUB)UC

Syl e §C={1,3,57,9} » B={1,35,6,7}, A={1,2,3,4,5,6}./1
AU( BUC) = (AUB)UC
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(b) If U={1,2,3,...,9}, A={1,2,3,4,5,6} and B={2,4,6,8,9}then show that(ANB)°= A°UB® | (5)
(ANB)® = A U B S/ /et 2B={2,4,6,8,9}s A={1,2,3,4,5,6},U={1,2,3,...,.9L]0

Q.No.34. (a) The Area of a rectangular park is 1600sg. meter. Its length is four times (5)
as long as its width. Find its perimetre.

LI b1 g SIS e 2 8 1600 SKSWES

(b) Evaluate the following and express the answer into decimal number system. 5)
_ufau:(lﬁd)ﬁd/lﬁ'—’lf?lﬁulq}/dyfd_}gjﬂ
(123), +{(145), +(2243), —(1010), }
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Q.No. 35. (a) Eliminate x from x+i =2n and x? +i3 =2m° “)
X X

LB X U X3 +i3 —2m® s x+L=2n
X X

(b) Find solution set of the following simultaneous linear equations by using the (8)
method of equating the coefficient.

_u_’fr)""aﬁn.)’Ld/,l/,ﬁw/‘du&&:J’(u?l;l/;!ﬁ@’d;é
5x-3y=2
2x—-y=1

Q. No. 36. (a) Construct a rectangle ABCD when m AB =4cm and mBC =6cm. ()
m BC =6cm.st m AB =4cm 6 /LABCD
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-Q/()"b}ldVJJ}gé;ﬂ&’RZ%}é
Class interval j,&'m 2-6 7-11 12-16 17-21 22-26

Frequency Y% 2 2 3 4 1

(b) Prove that, if two sides of a triangle are congruent then the angles opposite these (5)
sides are congruent.
i f &l b Liund L:-'*&M»Lw.,gﬁf et
Q. No: 37. (a) Find the value of the following ypedddies | O
cos 30° cos 60° + sin 30° sin60°
(b) Find the mean of the following frequency table. (5)
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